A

6-M5x8 EQS,
P.C.D @104

2-@5°"*7EQS

BN Input 795
39.5
120 15
14.5
2- @5 H7 §*°"2Thru -
| -@orfo ~Thid
0.5 —
-‘ -
© i ] I
=~ w
— —T -1 2| =
S
Q
o
b .
© ——
of ! —
o 5| — pn g i E
% 2 3S N .
266.7 © S ; ]
. T |
4-M4x10, EQS —- S 2 4.7 |
\ @ 14.1
kS 34.7
2
[}
&
£
=)
]
o & S 55 YR Tk BV R AR 1T
CurtPatorn Crossed Roller Bearing Permigsible Output 120 g Poston | Arivary
A 360° ({5 ff ek UL | cgaromin | B8 | AR
Shift Motion 360° (Rotation atany Angle ) Positioning Accuracy |~ Lubrication Synthetic Grease|
TCRCE RO )] 57 1511 1Stopping Motor HEERRIE TEFTREERTE
Mmg:ar;ggw (@8- §38.15- ©66.7-M4) Repeiive <15arcsec Operating -25~70
L 1410 1:18 ARG g000nm | MA% | 20000h
Reduction Ratio N Allowable Axial Load Service Life
i 32Nm 20Nm HRIGER | goonm | DI 1P40
Mo torque Alowabe Radal Losd Lovelof Producton
THEATTAE e
LEETEE] oomm | M <63dB
Platform Level of Noise
LA & S i B ) Bk A (D
Runout of Output 0.01MM | contimation orsigature
Platform Surface_ Date)
TAEG S BEED
Runautotouput | 0.01mm FE

7.5

it Output

130

110

4-@9 Thru, EQS

P.C.D @104

159.8

R ER AL
Rotating Part

14
2-M2.5x4
60
14 2-M2.5x4
]

[1

|

l

BT

Hollow Rotating Platform

ever
the clever drive
TREEFZ AR TR ARA IR A )

Dongguan Ever Motion Control]

75 Model:
ERG130-10/18-T1

Technology Co., Ltd

Wi | g | E | L)
Size Units Weight | Scale
A3 | mm |28kgl 2:1

#5773 Projective Mode:

@ =




